99

RIGHE = T7e*A1(I1)*BILL/(2¢*ALPHC)
IF((BETC/(2*ZEKE) )+BILL)17517918
17 BAB5 = 0,

GO TO 19
18 BAB5 = LOG(BETC/(2e*ZEKE)+BILL)
19 RIGH7 = 7.*A1(1)*BAB4*BABS
RIGH8 = (3¢%A3(])*BAB3)/(2e*ZEKE)
RIGHY = (3e*A3(])*BAB5)/(2+%ZEKE)
TERM3 = COEF2*(RIGH4=RIGH5-RIGH6+RIGH7+RIGH8=RIGH9)
BLAS = ((2-/3.)*A1(I)-A2(I’)*B*RC*RC+2-*A3(I)*B+PC(I)
TERM4 = (3414159%RC*RC)*BLAS
FORCE = TERM1-TERM2-TERM3-TERM4
STRA = FORCE/(3414159%RC*RC*STRO)
ESTO = STRAC*PCI(I)

PUNCHs STRAs F1l(I)s RC
40 PUNCHs FORCEs ESTOs PC(I)

PUNCHs ROs HOs STROs B

PUNCHs UNUs G

PUNCHs Fs RINGs STRAC

GO TO 1

END

FIG. 22 (CONTINUED)




